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Free Response Day #2
1. Unit 2 LFR #1 You are a member of the city council and are considering a law to control rents below the free-market rent. Answer the following questions, and use a graph in your explanation.
a. What would be the effect of this rent-control law in the short run? Why?
b. What would be the effect of this rent-control law in the long run? Why?
2. Unit 2 LFR #3 Assume the market for unskilled workers is perfectly competitive and in equilibrium, then a minimum wage is imposed, which increases the wage rate of unskilled workers.
a. Use supply and demand analysis to explain how this increase in the wage rate will affect each of the following:

i. The number of workers employed in the market.

ii. The number of unskilled workers seeking employment in the market

b. Assume that the fast food industry is perfectly competitive and employs only one factor of production: unskilled workers. Use supply and demand analysis to explain how the increase in the wage rate resulting from the imposition of the minimum wage will affect each of the following in the fast-food industry in the short run.

i. Price of the fast food

ii. Quantity of fast food produced

3. Unit 3 LFR #2 Assume that initially, a perfectly competitive industry is in long-run equilibrium.

a. For the typical profit-maximizing firm in this industry, explain the following:

i. How the firm determines its level of output

ii. What the level of profit is and why it is at this level

b. A change occurs that increases the variable costs of production for all firms in this industry. Explain how and why this increase in variable costs affects each of the following in the short run:

i. The typical firm’s level of output

ii. The industry price and level of output

c. In reaction to the changes above, the government imposes a retail price ceiling on the product at its original price level. What will be the effect of the price ceiling on the quantity demanded and supplied in the retail industry?

d. Given the effect of the price ceiling on the typical firm’s profits, will firms in the retail industry have an incentive to enter or exit this industry in the long run? Explain.
4. Unit 3 LFR #5 Peaches and nectarines are substitute goods, and both are produced under conditions of competitive equilibrium.

a. Joyce a producer in the peach industry discovers a technological breakthrough that reduced only the cost of producing peaches. Explain how the change in technology will affect each of the following for Joyce.

i. Quantity of peaches produced

ii. The price of peaches

iii. Short run profits

b. Now assume that all other peach-producing firms adopt the new technology. Explain how the adoption of the new technology will affect each of the following in the peach producing industry.

i. The price of peaches

ii. Quantity of peaches produced

c. This new technology is not applicable to the production of nectarines. Explain how the changes that occurred in the peach industry will affect each of the following in the nectarine industry.

i. The price of nectarines

ii. Quantity of nectarines.

5. Unit 3 LFR #6 In the country of Lola, sugar had always been produced in a perfectly competitive industry until a dictator seized power and monopolized the production of sugar.

a. Draw a graph that shows the output and price the monopolist would choose to maximize profits.

The people of Lola revolt, imprison the dictator and repeal the law restricting the number of sellers of sugar.

b. Explain two conditions that might lead to an increase in the number of sugar sellers after the repeal of the law.

c. Describe how an individual seller would determine the profit-maximizing output level of sugar if the sugar industry were perfectly competitive.

d. Given your answers in Parts (A) and (C), is the repeal of the law likely to make the sugar industry more efficient? In your explanation, be sure to include an explanation of both types of efficiencies.

6. Unit 4 LFR #1 Initially a country’s labor market is competitive and in long-run equilibrium. Now assume new workers enter the labor market.

a. Assuming no other changes, explain how the increase in the number of workers will affect each of the following in the short run:

i. The wage rate of workers

ii. The costs of production for a typical firm

iii. The price of goods produced by the workers.

b. Assume that the demand for the goods produced by the workers in Part A decreases. Explain the effect of this decrease on each of the following:

iv. The price of goods produced by the workers

v. The  demand for labor

vi. The wage rate of workers

c. Now assume that legislation requiring the establishment of a national minimum wage is proposed. Explain at what level this minimum wage would need to be set to be effective.

d. Explain how the imposition of the minimum wage in Part C would affect the following:

vii. The number of workers employed in the labor market

viii. The costs of production for a typical firm

7. Unit 4 LFR #3 In the United States, textiles are sold in two separate and perfectly competitive markets. The textiles produced in the United are sold in Market A, and imported textiles are sold in Market B.

a. Assume that the textiles produced in Market A and Market B are close substitutes. Explain how the supply curve for textiles produced in the United States will be affect by each of the following:

i. A decrease in the number of firms in the United States producing textiles.

ii. An increase in the price of textiles.

b. Using one graph for Market A and another for Market B, show and explain how a substantial increase in the tariff on textiles imported into the United States will affect each of the following:

i. Equilibrium price and quantity of textiles sold in Market B (imported textiles)

ii. Equilibrium price and quantity of textiles sold in Market A (textiles produced in the United States)

8. Unit 5 LFR #1 One approach to the problem of pollution control in a market economy is the selling of pollution “credits” known as externality rights. The pollution-control agency of Big Falls has determined that 500 tons of pollutants may be discharged into the Fox River each year because this is the determined recycling capacity of the river. Accordingly, 500 pollution credits entitling the owners to dump one ton of pollutants into the river in a year are available. The city intends to make 500 pollution credits available each year.

a. What would be the shape of the supply curve for pollution credits in 2004? Why?

b. What would be the shape of the supply curve for pollution credits in 2009? Why?

c. Draw and label the demand curve for pollution credits in 2004. Why would it assume this shape?

d. On the same graph, draw and label the demand curve for pollution credits in 2009. Explain what would happen to the demand over time.

e. What would happen to the equilibrium price for pollution credits over time? Why?

f. What are the costs and benefits of this approach to pollution control for producers, consumers and the public?

